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’ART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer on your

answer sheet.

61- Most thinkers and experts believe that more money ... on education because it makes the
foundation of any society.
1) should be spend 2) can spend 3) may spend 4) should be spent

62- Technology addicts do not like to socialize with people; instead, they prefer to be alone and enjoy
... with their devices.
1) work 2) to work 3) working 4) worked

63- As I was washing the car, I noticed that one of the back lights ... out and I managed to change it
with a new one by myself.
1) had burned 2) have burned 3) was burning 4) burned

64- Drivers should keep the engine ... before they start to drive on cold days, especially in the winter.
1) warming 2) turning 3) running 4) supplying

65- Tom was amused to see how ... his sister took the game, and finally she received the gold medal.
1) generally 2) seriously 3) properly 4) completely

66- Psychologists believe that children should not be allowed to watch the films with violente scenes
because they may ... their delicate minds.

1) pollute 2) consume 3) access 4) contain

Lol glacdy ;0 g sudl axils olyor 4y Aduen |) T WS a3 S350 g (g, 4 M 0 1) b LS uelgd ples A aw
035 joye il | lag]




‘5’2?‘1/ 10 i ,b." . . < 'b ‘ Y Y .7 Y) &5
g b Oy 1y ¢ g ¢ 950 ¢ 0L ) P20 3190 (0908 Al VY 09037 —(Y) 839 9

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice
on your answer sheet.

Why do some people have curly hair and others straight? The short answer is: selective pressure.
Scientists ...(67)... that certain genes of the KAP cluster - a group of 16 genes that play a ...(68)...
role in the final shape of an individual’s hair, have greatly changed over the years. Their limited
evidence points to environmental selection and especially temperature as a/an ...(69)... . Curly
hair may help keep the head cool in warm climates. Sexual selection that is introduced by Charles
Darwin as an element of his theory of natural selection, too, may impact the presence of curly hair
in a population over time. This is simply to say that if a person with curly hair is ...(70)... to be
more attractive, he or she ...(71)... a better chance of being selected as a husband or wife, and
having such an opportunity ...(72)... getting the chance to pass one’s genes onto the next

generation. Ultimately, hair texture remains a phenomenon that is not yet fully understood.

67- 1) suggest 2) experience 3) rush 4) gain

68- 1) fluent 2) rare 3) recent 4) key

69- 1) range 2) factor 3) worry 4) invention

70- 1) prevented 2) forbidden 3) made up 4) considered

71- 1) would have 2) will have 3) could have 4) could have had
72- 1) mean 2) to mean 3) means 4) that means

PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct

choice on your answer sheet.

Passage 1

The invention of the light bulb by Thomas Edison in 1879 created a demand for a cheap, readily
available fuel with which to generate large amounts of electric power. Coal seemed to fit the bill, and
it fueled the earliest power stations (which were set up at the end of the nineteenth century by Edison
himself). As more power plants were constructed throughout the country, the reliance on coal
increased. Since the First World War, coal-fired power plants have accounted for about half of the
electricity produced in the United States each year. In 1986, such plants had a combined generating
capacity of 289,000 megawatts. They consumed 33 percent of the nearly 900 million tons of coal
mined in the country that year. Given the uncertainty in the future growth of nuclear power and the
supply of oil and natural gas, coal-fired power plants could well provide up to 70 percent of the
electric power in the United States by the end of the century.

Yet, despite the fact that coal has long been a source of electricity and may remain one for many
years (coal represents about 80 percent of the United States fossil-fuel reserves), it has actually never
been the most desirable fossil fuel for power plants. Coal contains less energy per unit of weight than
natural gas or oil. It is difficult to transport, and it is associated with a host of environmental issues,
among them acid rain. The cost of solving these environmental problems, along with the rising cost of
building a facility as large and complex as a coal-fired power plant, has also made such plants less

attractive from a purely economic perspective.
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73- What is the main idea of the passage?
1) Coal-fired plants are an important source of electricity in the United States and are likely to
remain so.
2) Generating electricity from coal is relatively recent in the United States.
3) Coal is a more economical fuel than both oil and nuclear power.
4) Coal is a safer and more dependable fossil fuel than oil and gas.
74- It can be inferred from the passage that coal became the principal source of electricity in the United
States because it ... .
1) required no complicated machinery
2) was relatively plentiful and inexpensive
3) was easy to transport
4) burned efficiently
75- Nuclear power was of little importance in the 20th century because ... .
1) it generated not much electricity
2) it was costly and few countries could pay for it
3) it had an uncertain future growth
4) it consumed a lot of energy
76- Which of the following CANNOT be understood from the passage?
1) More energy can be generated from a kilo of oil than the same amount of coal.
2) Coal played the most important role in generating electricity in the 19th century.
3) The First World War had an influence on the growing demand for coal.
4) Coal-fired plants are of less interest nowadays.

Passage 2

It is easy to recognize the environmental advantages of using alternative and renewable forms of
energy. Still, we must also be aware of the disadvantages.

One disadvantage of renewable energy is that it is difficult to generate the quantities of electricity
that are as large as those produced by traditional fossil fuel generators. It means that we need to
reduce the amount of energy we use or build more energy facilities. It also indicates that the best
solution to our energy problems may be to have a balance of many different power sources.

Another disadvantage of renewable energy sources is the reliability of supply. Renewable energy
often relies on the weather as its source of power. Hydro generators need rain to fill dams to supply
flowing water. Wind turbines need wind to turn the blades, and solar collectors need clear skies and
sunshine to collect heat and make electricity. When these resources are unavailable, the capacity to
produce energy from them will decrease. The current cost of renewable energy technology is also far
more than traditional fossil fuel generation. It is because it is a new technology and, as such, has a
considerable capital cost.

77- The underlined word “alternative” in the passage is closest in meaning to ... .
1) similar 2) different 3) regular 4) used
78- According to the passage, which of the following statements is WRONG?

1) Wind turbines need wind to turn the blades.

2) Solar collectors need sunshine to collect heat.

3) Today, all people use renewable energy.

4) Renewable energy often relies on the weather as its source of power.

79- It can be understood from the passage that ... .

1) renewable energy is much cheaper than fossil fuels

2) renewable energy is unpredictable and limited in quantity

3) we have easy, immediate access to renewable energy sources nowadays

4) wind turbines generate cleaner energy compared with solar collectors

80- Which of the following best describes the organization of the passage?
1) Advantage and disadvantage

2) Cause and effect

3) Statement and example

4) Disbenefits of an introduced subject
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